Math 331.2: Homework 7 (Section 3.5)

For the following problems find a particular solution
Ly =2y — 3y = 5e?t — et

.y =2y — 3y = sin(2t).

.y — 2y — 3y = elsin(t).

Ly =2 =3y =12 +2.

Ly =2y =3y =é¥.
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Ly =2y — 3y =te'.

For the following problems find the general solution.
7. y" 4+ 6y +9=1*+sin(t).

8. y" + 4y = 5.

9.y’ — 6y’ + 25y = 5t.

For the following problems solve the initial value problem and sketch the graph of the solution.
10. ¥’ +y — 2y = sin(t), y(0) =5,y (0) = —1.

11. o + 4y = 2e72" —3e73", 4(0) = 0,4/(0) = —2.

12. y” + 6y’ + 13y = 5¢t, y(0) = 2,v/(0) = 9.



